QT
cm
TE
2%
» I
=40
mz
=m
w
>
=
o

EEIG e Nel[e )\ Al WILSAS HONOOD ‘Al

HIHOLIMS
O3aiA olanvy

IVLIDIA ‘DO0TYNY dolngaigisia AON3IDHINIT
HIHOLIMS WILSAS

LINN T13ATT
HIAXIN ‘dINVIHd

H3avd4 ATTvL

IW3LSAS LN3AT

INTLSAS HOLINOW

NOLLVOINNWINOD

dINV XIHLYIN

O3aiA olany

INLSAS H313an

H3aavd oLnvy L1INN H3avd olanv vimia

HIWILMO0TO

013 S10NAaoyd 1vIO3dS

CURRENT PRODUCTS model:AF201A

el

b Corssonsees) q [@f....u.\ d [@f.uo”o\

wia wod

SLNdNI olany $1nd1n0 olany

555 N3dO LON 0 ¥OOHS OIMLOTT3 40 NSIH | NOILNVD #3# NYAVF NI AVIN WWOZKs 221031 'V A0SZ=35N3 ‘MOZ-

©} b [sesesss) d b (D) d {©©} ¢

X08 Yovax1vL LINN y3av4

s ovaoo: I NS V10Z:V9P0u “ONILNIHHND

S/s H3av4 2ev-sy

N aous oxsovacns svoces win st smoszs

TB-BOX : TB963 (OPTION)

© ©
CURRENT

O

COUGH BOX : AF124 (OPTION)

£ A
s
= g
o &
& 3
g 3
&
I
8
g
3
° s weo o g
S °© ®w» 2 2 & &8¢ 8 88
2
3
8 (C
b
<
© ° " ° "B R RREIBE g

O e ET o O
model:AF201A . .
o @ - - °© o

General communication management

TB box TB961 and TB963 available
Two announce unit AF124/T available
Two control room monitor selectable
O2R96, 01V96, DM1000/2000 and 03D
series controlled by cough unit
Fader start and stop option available

AF201A is a studio interface designed for studios using digital console
02R/96, 01V/96, DM1000/2000 and O3D series to add necessary func-
tions. AF201A allows you to have such usage as cough unit control,
talkback, return talkback control, CUE sign, Fader start and stop, 2
speakers selector for control room.

""Cough Unit control"
Input channel could be turned on and off by cough unit with AF201 which con-
nected to O2R/96, 01V/96, DM/10002000 and O3D through RS-422 serial port.

Two cough unit able to assign to any channel. (Default set up is 1 and 2.)

""Communication'
TB and RTB is available for communication between CR and studio, effect DIM
to HP monitor or CR monitor when each is turned ON, and let not to disturb com-

munication. Also you can adjust TB and RTB level in front panel.

"FADER S/S"

You can control to start and stop tape machine, CD and etc. with RS422 serial in-
terface by moving up and down the faders as configured by O2R/96, 01V/96,
DM/1000/2000 and O3D. The output corresponds with relay contact for up to 4
devices. You could modify the corresponding faders by internal dip switch.

"COUGH I/F"

Please use "CURRENT AF124/T" for cough unit to be used in booth. Fader or
touch switch toggle between ON/OFF could mute assigned fader in console. While
this action, SLS(Studio loud speaker) will be muted with cuff ON, and dis-muted
and prevent feedback with OFF.

"RTB"
RTB means return talkback which booth to CR communication that signal flow to
RTB output of AF201A. While RTB, SLS to cut and CR monitor will dim.

"CUE"
CUE button in TB961 pressed, CUE light in AF124 will be indicated. Extra exter-
nal cue light AF205A is available.

SPECIFICATIONS

@AUDIO INPUTS: D15-F(#4-40), 24kQ, Ref=+4dBu, Max=+24dBu
@AUDIO OUTPUTS: D25-M(#4-40), 500, Ref=+4dBu, Max=+24dBu
GFRONT PANEL CONTROL: TB & RTB LEVEL, mode set

@FREQ. RESP. : 20~20kHz +0.1dB ®THD: < 0.01% at 1kHz, @ REF
@TB963, AF124 CONNECTOR: D15-F(#4-40) @FAD. S/S CONNEC-
TOR: D15-M(#4-40) @FAD. S/S I/F: ONE-SHOT RELAY MAKE CON-
TACT(MAX=100mA) $RS422 CONNECTOR: D9-F(#4-40) 6GPI
CONNECTOR: D15-F(#4-40) €MAINS: 100VAC 50/60Hz, MAX 15W
GDIMENSIONS: 482Wx44Hx303D,4kg

Studio Interface AF201A: ¥298,000
Fader start option AF201-FAD: ¥48,000
Cough unit (fader type) AF124: ¥198,000
Cough unit (T-Bar type) AF124T: ¥298,000
Talkback box TB961: ¥64,000
Talkback box (goose neck) TB961G: ¥98,000
Talkback box TB963: ¥68,000
Talkback box (goose neck) TB963G: ¥99,000
CUE lamp AF205A: ¥32,000
AF124 cable 10m AF201-124: ¥45,000
AF124 cable 20m AF201-124-20: ¥55,000
AF124 para cable 50cm AF201-124P: ¥7,200
TB961/963 cable 5m AF201-963: ¥32,000
TB961/963 cable 10m AF201-963-10: ¥40,000
Serial cable 5m (DSUB) AF201-D9: ¥24,000
Serial cable 5m (DIN) AF201-DIN: ¥24,000
Serial cable 5m (MIDI) AF201-M: ¥24,000
Serial cable 5m (DM1000) AF201-D9K: ¥24,000
accessory :AC cable

The specifications are subject to change without notice.
2-26-11 AKATSUTSUMI, SETAGAYA-KU, TOKYO, 156-0044 JAPAN

(¢)CURRENT,INC. www.crnt.co.jp & 28



%t d> ~a—=)LIL—A
y— E=45—
RS422
Azavka—=L
Jr—45—-5—hK

TS —

(c)CURRENT,INC.



AF124 Announce Unit

Standard
Length=10m

>

>

FAder
- Unit
D15-F

AF201-124P
PARA CABLE

Insertion I/F AF204A

o
Fader Start/Stop

Standard Length=5m

Standard
Length=5m

TB961 Talkback Box

TB963 Talkback Box

CR Monitor
Outputs

Insert I/O 1

Insert I/0 2

Serial Port

Cough control
Fader start

CSP102A Program Meter

STEREO

Aux Sends

Fader S/S
D15-M

Audio OUT D25-M

Main SP

71N 71N

Main SP

CSP442A

1:4

ADA

Powered SP

+ RTB
. Speaker

(C)CURRENT,INC.

Studio Interface AF201A

JUL2012

H.Ichihashi

Sample of Studio System Diagram

AF201A sys




O O Emnnen 0 PERENY o0 PE=ENd b O =)0
000000000000 ® @ @
N
Wia wod
SLNANI olany SLNd1NO olany X08 MOvaNvL L1INN H3av4 1d9 /s Haav4 zzr-sy vi=3snd
### N3dO LON 00 XOOHS 21410373 40 MSIH i NOILNVO ### NVdVIF NI 3AVIN Wwoxs 221031 VI A0S NS V102dV:[2pow ‘ONI'LNIHEND V W FSNd ONIDVTIAAY FYOJId WAMOd LNANI ILOINNODSIA
AUDIO IN D15-F (#4-40) AUDIO OUT D25-M(#4-40) TB963 D15-F (#4-40) AF124 D15-F (#4-40) GPI D15-F (#4-40 FADER S/S D15-M (#4-40) RS422 D9-F (#4-40)
01 MON L+ 09 MON L- 01 SLS L+ 14 SLS L~ 01 09 01 MON L+ 09 MON L- 01 FUl TLY 09 FU2 TLY 01 comMl 09 START1 01 GND 06 RX GND
02 GND 10 MON R+ 02 GND 15 SLS R+ 02 +15V 10 ov 02 MON R+ 10 MON R- 02 +15V 10 ov 02 STOP1 10 com2 02 RX+ 07 RX-
03 MON R- 11 GND 03 SLS R- 16 GND 03 TB SW 11 03 S-CUE 11 S-RTB 03 TB CMD 11 TB TLY 03 START2 11 STOP2 03 TX- 08 TX+
04 CR L+ 12 CR L~ 04 CR 1L+ 17 CR 1L~ 04 CUE SW 12 04 Y-FU1l 12 Y-FU2 04 CUE CMD 12 CUE TLY 04 com3 12 START3 04 TX GND 09 GND
05 GND 13 CR R+ 05 GND 18 CR 1R+ 05 MINI Sw 13 05 L-MIC1l+ 13 L-MICl- 05 MINI CMD 13 MINI TLY 05 STOP3 13 comMm4 05
06 CR R- 14 GND 06 CR 1R- 19 GND 06 14 06 L-MIC2+ 14 L-MIC2- 06 14 RTB TLY 06 START4 14 STOP4
07 15 07 CR 2L+ 20 CR 2L+ 07 MIC +5V 15 MIC SIG 07 +15V 15 ov 07 MIC +5V 15 MIC SIG 07 +5V 15 ov
08 GND 08 GND 21 CR 2R+ 08 MIC GND 08 -15Vv 08 MIC GND 08
09 CR 2R- 22 GND
10 RTB+ 23 RTB-
11 GND 24
12 25 GND
13
Rev.2 above sn.5001
]
AUDIO IN D15-F(#4-40) AUDIO OUT D25-M(#4-40) TB963 D15-F (#4-40 AF124 D15-F (#4-40) GPI D15-F (#4-40 FADER S/S D15-M (#4-40) RS422 D9-F (#4-40) o
01 MON L+ 09 MON L- 01 SLS L+ 14 SLS L- 01 +15V 09 -15v 01 MON L+ 09 MON L- 01 FUl TLY 09 FU2 TLY 01 comMl 09 STARTL 01 ov 06 RX OV [—}
02 GND 10 MON R+ 02 GND 15 SLS R+ 02 +5V 10 ov 02 MON R+ 10 MON R- 02 +5V 10 ov 02 STOP1 10 com2 02 RX+ 07 RX- en
03 MON R- 11 GND 03 SLS R- 16 GND 03 TB SW 11 03 S-CUE 11 S-RTB 03 TB CMD 11 TB TLY 03 START2 11 STOP2 03 TX- 08 TX+
04 CR L+ 12 CR L- 04 CR 1L+ 17 CR 1L- 04 CUE SW 12 04 Y-FU1l 12 Y-FU2 04 CUE CMD 12 CUE TLY 04 com3 12 START3 04 TX OV 09 ov
05 GND 13 CR R+ 05 GND 18 CR 1R+ 05 MINI SW 13 05 L-MIC1l+ 13 L-MICl- 05 MINI CMD 13 MINI TLY 05 STOP3 13 com4 05 RX MONITOR
06 CR R- 14 GND 06 CR 1R- 19 GND 06 14 06 L-MIC2+ 14 L-MIC2- 06 RTB CMD 14 RTB TLY 06 START4 14 STOP4
07 15 07 CR 2L+ 20 CR 2L+ 07 MIC +5V 15 MIC SIG 07 +15V 15 GND 07 MIC +5V 15 MIC SIG 07 +5V 15 ov
08 GND 08 GND 21 CR 2R+ 08 MIC GND 08 -15Vv 08 MIC GND 08 RX MONITOR
09 CR 2R- 22 GND
10 RTB+ 23 RTB-
11 GND 24
12 25 GND
13
C) © TALKBACK LEVEL Fu1 Fu2 Fu1 Fu2 FADER START/STOP MODE SET @ C)
3 4|5 1234
CURRENT SEND RETURN 1 oelo o 010 1 FU1 FU2 FAD  CH PORT | D — =
2 os|e 0308 2 [ B B e B e M| g
@ . 0| i B | 3
model:AF201A O O . : i : [FEEEEEE [eaue ArEaeEas|
adt At s eels o912 H
O © °° 0 °° 0 : oele i : $501 $502 503 @ o
482.0
(¢c)CURRENT,INC. AF201A STUDIO INTERFACE Jul.2012

H.ICHIHASHI PANEL DIAGRAM AF201A-D




DIM SLS/HP

AUDIO OUTPUTS

DIM SLS cuT
AUDIO INPUTS ﬁt/ = ﬁ
MONITOR L ’N P K105 ’Z\ b2 StstL » © ©000000000000 -—
%m | 102 i—i_les S 000000000000
OEEE0
REAR AUDIO OUT D25-M(#4-40
PANEL 01 SLS L+ 14 SLS L-
Dsubl5-F (#4-40) 02 GND 15 SLS R+
01 MON L 09 MON L- 03 SLS R- 16 GND
02 eND 10 MON R+ MONITOR R [~ o |08 ’Z\ ] P> SLSR o 04 CR 1L+ 17 CR 1L-
03 MON R- 11 GND _ ¢ 124, S 05 GND 18 CR 1R+
04 CR L+ 12 CR L- et | | ic102 Tk o104 06 CR 1R- 19 GND
05 GND 13 CR R+ 07 CR 2L+ 20 CR 2L+
06 CR R- 14 GND 08 GND 21 CR 2R+
07 15 B LEVEL 09 CR 2R- 22 GND
08 GND ﬁ 10 RTB+ 23 RTB-
MIC AMP TB ON b2 HPL > i; GND ;: GND
TB961/963 - ’f\ ~ e "
6 \/lczm K201
Front Panel + HPR
TALKBACK BOX - AF124
4> S > ANNOUNCE UNIT
OE=D0
CUE SW CUE
. s S 5e
IC302
AUDIO IN D15-F (#4-40 MINI SW
01 S q [>o Dsubl5-F (#4-40)
02 +15V 10 ov 1c301 1C302 RTB LEVEL 01 MON L+ 09 MON L-
03 TB SW 11 02 MON R+ 10 MON R-
04 CUE sSW 12 e 1 RTB ON 03 S-CUE 11 S-RTB
05 MINI SW 13 04 Y-FU1l 12 Y-FU2
06 14 R ™S ya ‘ P AT8 05 L-MIC1+ 13 L-MIC1-
07 MIC +5V 15 MIC SIG RTB 2 1202 | P |_1c202 ‘ > 06 L-MIC2+ 14 L-MIC2-
08 MIC GND Front Panel 1105 07 +15V 15 oV
08 -15v
1C302
D325-327 RS422
1c302 T k3 @ ©
FU1 > 1C502
(4 > K-Fu1 RX /‘
Fu2 N o FU2 ~ Dsub9-F (#4-40)
01 GND 06 RX GND
RTB SW 4> ! option CRCUT 02 RX+ 07 RX-
\Ga01 ONFU 03 TX- 08 TX+
B 04 TX GND 09 GND
Mode dip switch START1 eor| A 05
GP1 w e STOP 1 7{
— 501 a2 — [ P FADER START/STOP
OENRSY el
U FAD |07 sToP 2 -
CUE CMD $502 ’—| A- | kso4
AUDIO IN D15-F (#4-40 MINI CMD D322-324 START 3 7[
01 FU1 TLY 09 FU2 TLY TBTLY MODE K5"5‘_| v Dsubl5-M (#4-40)
02 +15V 10 ov CUETLY S503 STOP 3 A 01 coM1l 09 START1
03 TB CMD 11 TB TLY v L2 wsos 02 STOP1 10 com2
04 CUE CMD 12 CUE TLY MINITLY } Ymsoz 9.8304 START 4 a 03 START2 11 sTOP2
05 MINI CMD 13 MINI TLY RTB TLY Kso7 - 04 com3 12 START3
06 14 RTB TLY STOP4 A 05 STOP3 13 coma
07 MIC +5V 15 MIC SIG 8.0000 e MPU K508 06 START4 14 STOP4
08 MIC GND 1C303 07 +5V 15 ov
08
ﬁ“/ CRL . CRIL /E‘/
A CR2L
AW K101 K103
CRR K102 K104 CR1R
CR 2R
oy
DIM/CUT MAIN / MINI
.
100VAC — < <
50/60Hz e STABILIER | . =I5Vand+5V (¢)CURRENT,INC. AF201A STUDIO INTERFACE Feb.2018

AF201A > rev.2 H.ICHIHASHI

STEM DIAGRAM

AF201A-B rev2

Powered by ClarisCad




+15V

TBON
HPISLS
TB961/963 v sscut FADER START/STOP
TALKBACK BOX PORT CRDIM sLscut RTB ON N2
DB201 45V B o VNN NN AL A
RB|HD Signal
Signal  |HD|RB LOWACTIVE gy RTB o o R
MINILS DIMICUT 11| com1
11 FUV2 o —
gssz A A -A—— 2| 9| SIART1
[ — 9|2 ] 1 s TB 1 —
R > >0 \A—13| 2| storP1
X m LPCOMMON| 2 | 3 (— CUE 2 17 CUE 5 '
St DR DR T 4|10| com2
TB SWITCH SW COMMON| 10 | 4 —— MINI 3 16 MINI 3 — P,
o153
TBSW |35 RTB 4| TDE2786AP |15 RTB 4| TD62084AP |15 K-RTB_ —
199455 1|6 [~ FU_L 5| Icso1 |y, FUL 5 4 KFUL ' 6|11 stop2
$ 1C302 = 74| coms
R2 CUESW | 4|7 FU_2 FU_2 K-FU2 L
NCAR S & 13 6 13 = . A—18|12| START3
£ 128 CRCUT Sovs00mA CRCUT S0v500mA ] i
CUE SWITCH 7 Ve 2 | 7 Ve (12 KCRDIM, 1 a—1t9| 5| stors
MINISW |5 | 9 8| > | 8 D 11 K-SLS CUT_ ! ol coma
g 1310~ | sov 10 ° 0 —
19?852 GND2 ——VC€C GND GND COM[— ' A——11| 6| START4
6 11— ! —
R3 i a——112| 14| sTOP4
X Y |
> 14] 12 |- UM GND —— 7 GND2 . '
S MPU p<—— 13| 7 +5V
MINI SWITCH ECM MIC+v | 7 |13 o T
1 MICSG |15]14 ! 14]15 o
2 - ' 15| 8 | RX MONITOR
MICGND | 8 |15 FUON1 e DSUB15-M
WMO034BZ DSUB15F &b CRCUTBY FU12 v '
(OPTION) FUON2 '
10 R$422 SERIAL PORT
01 DBS0L
FADER UNIT PORT RB[HD| Signal
DB202 — 1|1 GND
AF124/T Signal  |HD|RB »— 2|6 GND
+15V +15V MONL+ | 1)1 — 8 3|2 RX-A
MONL- |9 |2 |~ 1 <{>m 16 a7 RX-B
4 DLQIOL | RI105 CUE , 15
MONR+ | 2 |3 |— DR 53| TxB
MINI 5 14
\V4 MONR- |10| 4 |- 68| TXA
3 2 Y-CUE_ RTB 4| TD62004AP |13
SCUE |35 7|4 GND
TLP521-1 SRTB FU1l 5 1C303 |15 GPI PORT
SRTB  |11] 6 . GND
Y-FUL FU_2 S0vS00mA DB301
Y-FUL | 4 — = 8 Veew RV ASEM 9| 5 | RXMONITOR
Y-FU2_ RB|HD| Signal
— Y-FU2 |12 8 L > o S 1 DSUB9-F
8 1|1| PULTLY _— 4 D2
L-Mmici+ | 5|9 GND COM = %
2|9 | FU2TLY —_— e
L-Mict- | 13|10 |- —
GNB2 3|2 +5V @
Lmic+ |6 |11
L-MIC2 4110 il
MiC2 | 14|12 —
> 5| 3| TBOMD o
Q14 +15V 7 |1B8F—>5 [
R 6|11| TBTLY <
o1k ook GND 15|14
> 74| cEaMD | o
B >3
RN1002|  RN1002| v 8|15 < oo o 12| cUETLY 4\%
DSUB15F
1 o 5| MnouD | o o
GND /]>‘
10 13| MINITLY <
1]6| RBOMD | o o] N
12| 14| RTBTLY —_— e
TBAMP L—113| 7| mic+sv EcM
<} 14]15| micsiG L
— 15| 8 | miconp 2
DSUB15-F WMO0348Z
GND2 GND
(c)CURRENT,INC. AF201A STUDIO INTERFACE MAR.2023

>=REV.2

H.ICHIHASHI

LOGIC SYSTEM 10F1




AF201A OPERATION

FRONT/REAR PANEL

CH PORT

$502

FU1 FU2

MODE SET
FAD

MAINS SWITCH
LED illuminate on AF201A
active. If you re-power up then

waite more than 5 sec.

Baud Rate Change
In AF201A rev.2 (sn. 5001 or
above), change of the baud rate
is possible in S503-8 switch.
OFF is 38.4k, ON changes it to
31.25k and allows the use in the
MIDI port. When change setting
should be reboot.

mmmmmmm

MIDI CH
1
o o
.

mmmmmmmm

P

FADER START/STH

©xeee00000
M ~oco0o0ceeee
il ccoeecoee

woeceoceOe

RETURN
@

TALKBACK LEVEL
(Y]
.

SEND
@

model:AF201A

w
o
by
|| &
i f
Oz
o
8|S
2

[}

©
0 0

MODE SWITCH
S501 set for cough channel,
S502 set for fader start/stop
channel, S503 for MIDI channel
and port. When change setting
should be reboot.

TB RETUEN )
Set RTB(return talkback) level
from booth. On RTB, -10dB
dim by fixed internal preset.

TB SEND

Set talkback level for studio
loud speakers and headphones
monitor. Monitor signal
dimmed during talkback. The
dim level change on rear panel
trim. Communication is very

smart by talkback amp with

complessor.

AUDIO INPUTS

AUDIO OUTPUTS

TALKBACK BOX
00000000
0000000

FADER UNIT
00000000

GPI

*
E
k4
z
i
o
<]
=
o
z
o
a
X
o
Qo
T
o
o
I
E
o
r
=}
o
w
]
X
@
<
z
Qo
E
E)
<
3]
Py
g
#
z
<
o
<
=
Z
w
o
<
=

E
E
S
S
X
&
~
&
o
w
g
>
5]
2
<
i
w
]
>
e
]
s
S
il
x
<
=
N
T
5]
g
s
3
Q
<
>
2
8
z
7]
<
S
8
i
£
o
3
8
E
%)
Z
=
z
pr}
<
<
3
3]

FADER S/S

=1A

FUSE:

@

DISCONNECT INPUT POWER BEFORE REPLACING FUSE A A

AUDIO INPUTS
Signal source inputs for SLS, HP, and CR
monitor. +4dBu, Balanced.

D15-F, Use #4-40 UNC screw for fix.

PRM DIM
Dim level on TB for SLS and HP monitor.

AUDIO OUTPUTS

Output for SLS, CR1, CR2 and RTB.
+4dBu, Balanced 1/4" phone.

D25-M, Use #4-40 UNC screw for fix.

TALKBACK BOX TB963
Connect talkback box TB961 or TB963.
Use #4-40 UNC screw for fix.

FADER UNIT AF124
Connect announce unit AF124.
Use #4-40 UNC screw for fix.

GPI
FU1, FU2, TB, CUE, MINI, RTB command
and tally outputs include additional TB mic
Use #4-40 UNC screw for fix.

FADER START/STOP
Fader start and stop control via serial remote
from console. Use #4-40 UNC screw for fix.

SERIAL REMOTE
Connect to serial remote port of console.
Use #4-40 UNC screw for fix.

FUSE
Use 1A/250 5x20mm size.

Disconnect input power before replacing fuse.

MAINS
Use AC100V 50/60Hz

(c)CURRENT,INC. 2-26-11 AKATSUTSUMI, SETAGAYA-KU, TOKYO, JAPAN 156-0044 TEL:03-3321-9559 FAX:03-5376-2735

powered by QuarkXpress




AF201A SETUP

DIP SWITCH

Define cough channel, fader start and etc. mode. (DM2000 and O2R96)

Change dip switches on bottom panel of the AF201A that factry preset on masked. Power of before you change mode.

Cough cahnnel can be change by "control change table",

channel pair" and "mute group"

Please set MIDI mode on setup menu of the console as follows. Set PC-2(no item with DM1000) for TO-HOST, SERIAL-1(port) for

Rx and Tx port. as MIDI/HOST tab. Set ON Tx and Rx for Control change as SETUP tab.

Default Tx and Rx MIDI channel is one.

S501(1-4) FU-1

S501(5-8) FU-2

CH S1
01 OFF
02 ON
03 OFF
04 ON
05 OFF
06 ON
07 OFF
08 ON
09 OFF
10 ON
11 OFF
12 ON
13 OFF
14 ON
15 OFF
16 ON

S2
OFF
OFF
ON
ON
OFF
OFF
ON
ON
OFF
OFF
ON
ON
OFF
OFF
ON
ON

S3 S4

OFF |ON
OFF |ON
OFF |ON
OFF |ON
ON |[ON
ON |[ON
ON |[ON
ON |[ON

08

10
11
12
13
14
15
16

S5
OFF
ON
OFF
ON
OFF
ON
OFF
ON
OFF
ON
OFF
ON
OFF
ON
OFF
ON

S6
OFF
OFF
ON
ON
OFF
OFF
ON
ON
OFF
OFF
ON
ON
OFF
OFF
ON
ON

S7
OFF
OFF
OFF
OFF
ON
ON
ON
ON
OFF
OFF
OFF
OFF
ON
ON
ON
ON

S502(1-4) FADER START AND STOP (OPTION)

CH S1 S2 S3 S4 e
---------------- OFF |OFF |OFF |OFF |Does not work.
*01-04 ON OFF |OFF |OFF |Start and Stop
*03-06 OFF ON OFF OFF Start and Stop
*05-08 ON |ON |OFF |OFF |Start and Stop
*07-10 OFF |OFF |ON OFF  |Start and Stop
#09-12 ON |OFF |ON [OFF |Start and Stop
*11-14 OFF |ON ON OFF  |Start and Stop
*13-16 ON ON ON OFF Start and Stop
01-04 OFF |OFF |OFF |ON Start only
03-06 ON |OFF |OFF |ON |Start only
05-08 OFF [ON |OFF |ON (Start only
07-10 ON ON OFF |ON Start only
09-12 OFF |OFF |ON ON Start Only
11-14 ON OFF |ON ON Start only
13-16 OFF |ON |ON |ON |[Start only
*17,19.2123 |ON |ON |ON |ON |Start and Stop
S503(1-4) MIDI CHANNEL S503(5-8) MIDI PORT & BaudRate
CH S1 S2 S3 S4 PORT S5 S6 S7 S8
01 OFF |OFF |OFF |OFF 01 OFF |OFF |OFF
02 ON OFF |OFF |OFF 02 ON OFF |OFF
03 OFF |ON |OFF |OFF 03 OFF |ON |OFF
04 ON |ON |OFF |OFF 04 ON |ON |OFF
05 OFF |OFF |ON |OFF 05 OFF |OFF |ON
06 ON |OFF |ON |OFF 06 ON |OFF |ON
07 OFF |ON |ON |OFF 07 OFF |ON |ON
08 ON |ON |ON |OFF 08 ON |[|ON |ON
09 OFF |OFF |OFF |ON
10 ON |OFF |OFF |ON
11 OFF |ON OFF |ON mini-DIN port (38.4Kk) OFF
12 ON |ON |OFF |ON Dsub-9P port (38.4k) OFF
13 OFF |OFF |ON ON
14 ON |OFF |ON |ON MIDI port (31.25k) ON
15 OFF |ON |ON |ON
16 ON |ON |[ON |ON

*mode works start and stop action by
fader of the console. Other mode works
only start action that can be send the
start command for 8 machines. On this
mode, relay out 1,2,3,4 fixed for fader
14,19,21,23 and output 5-8 assignable.

Fader start and stop action does not
work on channel off.
If you now fader is up and channel off
to on then start command output but on
to off does not work.

It sets an MIDI port by S5, S6, S7.
Please set it appropriately in case you use it
together with other MIDI equipment.

Baud Rate Change

In AF201A rev.2 (sn. 5001 or above),
change of the baud rate is possible in
PORT#4 switch.

OFF is 38.4k, ON changes it to 31.25k and
allows the use in the MIDI port. When
change setting should be reboot.

(c)CURRENT,INC. 2-26-11 AKATSUTSUMI, SETAGAYA-KU, TOKYO, JAPAN 156-0044 TEL:03-3321-9559 FAX:03-5376-2735
powered by QuarkXpress



AF201A Connector Pin List

AF201A "Audio Inputs "' Dsubl5-F(#4-40)

Ribber | Hard Signal name Designation Active

1 1 MON L+ MONITOR SOURCE INPUT LEFT + audio

2 9 MON L- MONITOR SOURCE INPUT LEFT - audio

3 2 GND MONITOR SOURCE INPUT LEFT 0 GND

4 10 MON R+ MONITOR SOURCE INPUT RIGHT + audio

5 3 MON R- MONITOR SOURCE INPUT RIGHT - audio

6 11 GND MONITOR SOURCE INPUT RIGHT 0 GND

7 4 CR L+ CR MONITOR INPUT LEFT + audio

8 12 CRL- CR MONITOR INPUT LEFT - audio

9 5 GND CR MONITOR INPUT LEFT 0

10 13 CR R+ CR MONITOR INPUT RIGHT + audio

H 6 CR R- CR MONITOR INPUT LEFT - audio

12 14 GND CR MONITOR INPUT LEFT 0 GND

13 7

14 15

15 8 GND GND GND
CAUTION! D-Connector for wiring refer to Hard pin number Description. Mounting screw for D-connector use #4-40 size.
FER! DY 7RV Y DERIBHadEYBSTERLTEEW, RFERRB#4—-401VFERXTT,

AF201A '"Talkback Box'' Dsubl5-F (#4-40)

Ribben | Hard | Signal name Designation Active

1 1 +15V +15V SUPPLY (ABOVE SN5001) +15V

2 9 -15V -15V SUPPLY (ABOVE SN5001) -15V

3 2 LP COM LAMPS COMMON +15V +15V/+5V

4 10 SW COM SWITCHES COMMON 0V ov

5 3 TB SW TB SWITCH ov

6 11

7 4 CUE SW CUE SWITCH ov

8 12

9 5 MINI SW MINI MONITOR SELECT SWITCH ov

10 13

H 6

12 14

13 7 MIC +5V +5V MIC POWER +5V

14 15 MIC SIG TALKBACK MIC SIGNAL audio

15 8 MIC GND MIC GND ov
CAUTION! D-Connector for wiring refer to Hard pin number Description. Mounting screw for D-connector use #4-40 size.
EE! DY 7RV I DERIBHard EVES TERL T LSV, MEERE#4-401YFEXTY,

(c)2014 CURRENT,INC.

powered by numbers



AF201A Connector Pin List

AF201A "Fader Unit'' Dsubl5-F(#4-40)

Ribben | Hard Signal name Designation Active

1 1 MON L+ MONITOR SEND LEFT + audio

2 9 MON L- MONITOR SEND LEFT - audio

3 2 MON R+ MONITOR SEND RIGHT + audio

4 10 MON R- MONITOR SEND RIGHT - audio

5 3 S-CUE_ CUE SWITCH COMMAND SEND Lo

6 11 S-RTB_ RTB SWITCH COMMAND RECEIVE Lo

7 4 Y-FUI_ FU-1 ON COMMAND RECEIVE Lo

8 12 Y-FU2_ FU-2 ON COMMAND RECEIVE Lo

9 5 L-MIC1+ RTB MIC RECEIVE 1+ audio

10 13 L-MIC1- RTB MIC RECEIVE 1- audio

H 6 L-MIC2+ RTB MIC RECEIVE 2+ audio

2 14 L-MIC2- RTB MIC RECEIVE 2- audio

13 7 +15V +15V SUPPLY +15V

14 15 GND GND ov

15 8 -15v -15V SUPPLY -15V
CAUTION! D-Connector for wiring refer to Hard pin number Description. Mounting screw for D-connector use #4-40 size.
FE ! DY 7RV 5DERIBHadE Y BSTERLTLEEW, GERB#4—-401YFERXTY,

AF201A "GPI'" Dsubl5-F(#4-40)

Ribben | Hard Signal name Designation Active

+ 1 B-FU1 FU1 ON TALLY (open collector max +24V 10mA) Lo

2 9 B-FU2 FU2 ON TALLY (open collector max +24V 10mA) Lo

3 2 +15V/+5V +15V SUPPLY (+5V for ABOVE SN5001) +15V/+5V

4 10 ov ov ov

5 3 S-TB TB COMMAND (pulled up to +5V) Lo

6 11 B-TB TB TALLY (open collector max +24V 10mA) Lo

7 4 S-CUE CUE COMMAND (pulled up to +5V) Lo

8 12 B-CUE CUE TALLY (open collector max +24V 10mA) Lo

9 5 S-MINI MINI COMMAND (pulled up to +5V) Lo

16 13 B-MINI MINI TALLY (open collector max +24V 10mA) Lo

H 6 S-RTB RTB COMMAND (pulled up to +5V) Lo

2 14 B-RTB RTB TALLY (open collector max +24V 10mA) Lo

13 7 MIC +5V +5V MIC POWER +5V

14 15 MIC SIG TALKBACK MIC SIGNAL audio

15 8 MIC GND MIC GND ov
CAUTION! D-Connector for wiring refer to Hard pin number Description. Mounting screw for D-connector use #4-40 size.
FE ! DY 7RV Y OERKIBHardE Y BSTERLTCEEW, FERRB#4—-401YFERTY,

(c)2014 CURRENT,INC.

powered by numbers



AF201A Connector Pin List

AF201A "Audio Outputs "' Dsub25-M(#4-40)

Ribben | Hard Signal name Designation Active
1 1 SLS L+ SLS OUTPUT LEFT + audio
2 14 SLS L- SLS OUTPUT LEFT - audio
3 2 GND SLS OUTPUT LEFT 0 GND
4 15 SLS R+ SLS OUTPUT RIGHT + audio
5 3 SLS R- SLS OUTPUT RIGHT - audio
6 16 GND SLS OUTPUT RIGHT 0 GND
7 4 CR 1L+ CR MONITOR 1L + audio
g 17 CR 1L- CR MONITOR 1L - audio
9 5 GND CR MONITOR 1L 0
+0 18 CR IR+ CR MONITOR 1R + audio
H 6 CR 1R- CR MONITOR IR - audio
12 19 GND CR MONITOR 1R - GND
13 7 CR 2L+ CR MONITOR 2L + audio
14 20 CR 2L+ CR MONITOR 2L - audio
15 8 GND CR MONITOR 2L 0 GND
16 21 CR 2R+ CR MONITOR 2R + audio
7 9 CR 2R- CR MONITOR 2R - audio
o 22 GND CR MONITOR 2R 0 GND
19 10 RTB+ RTB OUTPUT + audio
20 23 RTB- RTB OUTPUT - audio
21 11 GND RTB OUTPUT 0 GND
22 24
23 12
24 25
25 13 GND GND GND
CAUTION! D-Connector for wiring refer to Hard pin number Description. Mounting screw for D-connector use #4-40 size.
ER ! DY 7RV 7 DERIBHardEVESTEREL TS W, BTERR#4-401VFERXTY,

(c)2014 CURRENT,INC.

powered by numbers



AF201A Connector Pin List

AF201A "Fader S/S' Dsubl5-M(#4-40)

Ribben |Hard Signal name Start/Stop mode Start mode Active
1 1 COM1 COMMON 1 COMMON 1/2 RELAY
2 9 STARTI1 START 1 START 1 RELAY
3 2 STOP1 STOP 1 START 2 RELAY
4 10 COM2 COMMON 2 COMMON 3/4 RELAY
5 3 START?2 START 2 START 3 RELAY
6 11 STOP2 STOP 2 START 4 RELAY
7 4 COM3 COMMON 3 COMMON 5/6 RELAY
8 12 STARTS3 START 3 START 5 RELAY
9 S STOP3 STOP 3 START 6 RELAY
10 13 COM4 COMMON 4 COMMON 7/8 RELAY
H 6 START4 START 4 START 7 RELAY
2 14 STOP4 STOP 4 START 8 RELAY
3 7 +5V +5V SUPPLY (ABOVE SN5001) +5V
4 15 ov 0V (ABOVE SN5001) ov
15 8 RXMON RS422 receive monitor output (ABOVE SN5001) TTL
CAUTION! D-Connector for wiring refer to Hard pin number Description. Mounting screw for D-connector use #4-40 size.
ER! DY 7RV Y DERKIBHadEYBSTERELTEEW, RFERRB#4-401VFERXTT,
AF201A "RS-422'" Dsub9-F (#4-40)
Ribber | Hard Signal name Designation Active
1 1 GND GND ov
2 6 RX GND GND ov
3 2 RX-A RS422 RECEIVE + RS422
4 7 RX-B RS422 RECEIVE - RS422
5 3 TX-B RS422 TRANSMIT - RS422
6 8 TX-A RS422 TRANSMIT + RS422
7 4 TX GND GND ov
8 9 GND GND ov
9 5 RXMON RS422 receive monitor output (ABOVE SN5001) TTL
CAUTION! D-Connector for wiring refer to Hard pin number Description. Mounting screw for D-connector use #4-40 size.
ER! DY 7RV Y 0OERKIBHadEVYBSTERULTEEW, RFERRB#4—-401YFERXTY,

(c)2014 CURRENT,INC.

powered by numbers



AF124
Dsub25-F #4-40 screw

AF124015%28EKY D55,

Wiring diagram for first AF124

AF201 FADER UNIT PORT

Dsub15-M #4-40 screw

j

—~
Y-FU /®\ /A\ :vl:]t § ® MON L+
Y-FU_ @ I\ A vel @ MON L-
Y-CUE @ A @ MON R+
B-CUE- @ ! Vogr s @ MON R-
B-CUE+ @ 1 \ et B @ S-CUE_
B-RTB \ T o 2 @ S-RTB_
S-RTB @ / \ pnk-1 #E1 (%4) @ Y-Ful
RTB_COM @ A e 82 @ Y-FU2
L-MIC+ @ 7\ o o2 @ L-MIC1+
L-MIC- @ I\ @ L-MIC1-
L-MONL+ @ @ L-MIC2+
L-MONL- @ L L-MIC2-
L-MONR+ @ @ +15V
L-MONR- @ yel-2 %2 org-3 %2 / \ / \ © | w
+15V @ IBRYER! @ 15V
+15V @ \r_ \/
ov ® 2ODNT EINT THEET 5.
w ~ @ pnk-2 7 wht3 &3
15V @
15V @ .
@ CABLE : MOGAMI 2841 7-pair
® =W RET—RTEMLEVELEICTEZ &, T
@ /
@ /
\/ /
/
/
_______________________________________ I/
AF124 AF124025#K%ERT 5158, A0 FADER UNIT PORT
Dsub25-F #4-40 screw . . subi5- -0 screw
Wiring diagram for second AF124
/-\ ~ \ . . ~ /\
Y-FU @ \ W:t - @ MON L+
Y-FU_ @ I\ A vel % @ MON L-
Y-CUE @ AN @ MON R+
B-CUE- @ A [ org-1 &1 @ MON R-
B-CUE+ @7:] / \ Wht &1 @ S-CUE_
B-RTB \ TN ot 21 a0 @ S-RTB_
S-RTB @ — = @ Y-FU1
RTB_COM @ A e 2 @ Y-FU2
L-MIC+ @ \ e B9 @ L-MIC1+
L-MIC- @ I\ @ L-MIC1-
L-MONL+ @ @ L-MIC2+
L-MONL- @ L @ L-MIC2-
L-MONR+ @ @ +15V
L-MONR- @ yel2 %7 org-3 fi3 / \ / \ @ o
+15V @ ™t @ 15V
+15V @ \[/_ \/
ov @ 2DDNRTEINS THERET 5,
o @ pnk-2 #k2 wht-3 &3
15V @
15V @ @
CABLE : MOGAMI 2841 7-pair
@ @ ‘ D= REF—XCEMLEVEDIZTRZ &,

(c)CURRENT,INC.

AF201/AF201A

Nov.2011

H.ICHIHASHI

AF124 CABLE

AF201-AF124 Cable




SERIAL CABLE
DM2000/02R/O2R96

SERIAL PORT HOST PORT

Dsub9-M MINI DIN 8P
GND /@\
TX-GND @ L

AN ~

RX-A © S A ® @ ®
RX-B A BLU
TX-B @ @ / \ BLK @ @
TX-A @ ~ @ @
RX-GND @
GND \@/

USE #4-40UNC SCREW VIEW FROM SOLDER SIDE
ABLE : MOGAMI 2893
AFEREFRALTLL LI, % FHRELP SR T
J
\

TB961/963 CABLE

Dsub15-M #4-40 screw

LP COM
SW COM

TB SW
CUE SW

MINI SW

MIC POWER
MIC SIGNAL
MIC GND

/

Dsub15-F #4-40 screw

/

|
3

?

Don't connect pin13 when using GPI port

®
®

RED
CH-2

T
J

7

BLK

)

CABLE : MOGAMI 2997
Sm

© 6 6

@® @
o ;fﬁﬁ ®
© 5 ORG ©)
@ @ YEL @

L CH-1 —(3)

ok

¥

(c)CURRENT,INC.

AF201/AF201A

Nov.2011

H.ICHIHASHI

SERIAL & TB-BOX CABLE

SEIAL/TB CABLE

powered by clarisca




Dsub15-M #4-40 screw

LP COM
SW COM

TB SW
CUE SW

MINI SW

MIC POWER
MIC SIGNAL
MIC GND

/

TB961/963 CABLE

Dsub15-F #4-40 screw

/

® ®© O

®
i

@ RED @
BRN @

@ ORG
©)

@ YEL
o ®
T o oo ®
®
@7_RE£§ CH-2 o< | _@

@

BLK

—O

CABLE : MOGAMI 2997
Sm

® ® 6 6 6 ©

¥

Dsub15-M #4-40 screw

LP COM
SW COM

TB SW
CUE SW

MINI SW

MIC POWER
MIC SIGNAL
MIC GND

/

©® ©

e

TB961/963 CABLE

Lo

Dsub15-F #4-40 screw

/

®
® ® 6|6

of

® ©

CH-1
—/ AN
——_ A~ CH-2 A X
Ny Ny
[ X CH-3 o< |
> >
RS CH-4 o<

)

—OD

CABLE : 4ch Multi Cable
Sm

©0® oo
®® 6 6 6 ©

Using audio snake cable

¥

(c)CURRENT,INC.

AF201/AF201A

Apr.2023

H.ICHIHASHI

AF201-963 TB-BOX CABLE

AF201-963 CABLE 4ch multi

powered by clarisca



hi
テキストボックス
Using audio snake cable


MIDI OUT

SERIAL CABLE PORT DIN 5P
SERIAL PORT v
SERIAL MIDI PORT NS
220R
s—w—<1
10kQ 1/4W e 0 @ 2
GND (;b—[]:ﬂ— “. GND
RX-GND (:)——r]
RX + ® & . -
RX - ®
TX - =) ﬁ ﬂ
TX MIDI IN
TX-GND @LJ = - > PORT DIN 5P
GND @ 220R
© E
\/ @ @ 5 C
USE #4-40UNC SCREW &) ©) @ Z_G_IIV_D
TFEREFALTIRE N, CABLE: MOGAMI 2930
== VIEW FROM SOLDER SIDE
EME, 5T
SERIAL CABLE _—
DM1000 REMOTE PORT
9.
SERIAL PORT REMOTE PORT g
Dsub9-M /\
— GND
> @ | RX-GND
GND @ RX -
RX-GND ©@ ® RX +
RX + @ ® TX +
RX - ® ® TX -
TX - ® - @ TX-GND
TX + ® ® | GND
TX-GND [ (@ - ©) NC
GND ® \/
\@/

USE #4-40UNC SCREW
T FEXEFALTLEZ Y,

Sm

CABLE : MOGAMI 2893

USE #4-40UNC SCREW
T FEXEFALTLEE W,

(c)CURRENT,INC. AF201/AF201A

Nov.2011

H.ICHIHASHI SERIAL CABLE for MIDI & REMOTE PORT MIDI/DM1000 CABLE

powered by clariscad




AF124

Dsub25-F #4-40 screw

Wiring diagram for AF124 Expansion

AF124

Dsub25-M #4-40 screw

Gj

=

N

o
N

("

N

GHONONCNONONCNONONONONE)

M) A org M
Y-FU @ / \ wht &
Y-FU_ @ I A vel #
Y-CUE @ /\ ok 46 @
B-CUE- @ A org1 fE1
B-CUE+ @ /\ wht-t B 1 @
B-RTB @ vy yel1 31
S-RTB @ /\ pk-1 # 1 @
RTB_COM @ A I org-2 &2
LIcs ® ® Al P ©
L-MIC- I\ A yel-2 %2
L-MONL+ @ /\ pnk-2 72 @
L-MONL- @ A I\ org-3 f&3
L-MONR+ @ [\ wht3 B3 @
L-MONR- @ Fyy org-3 #3
+15V @ @ /\ wht-3 # 3 @
+15V ) \ / A org-4 4 \ / @
ov \J @ X [\ wht-4 14 X -
w @ / \ Y yel-4 %4 / \ @
-15v /\ pnk-4 4
-15V @ I\
@ ) T @
[ ] 1
CABLE : MOGAMI 2843 10-pair
Apr.2023
Feb.2009
(¢)CURRENT,INC. AF124/T Mar.2005
H.ICHIHASHI AF124 EXPANSION CABLE AF124-AF124 Expansion






